大学英语B 5

一、交际英语
1、- _______

- You too!

  A：Merry Christmas!






  B：What a beautiful day!

  C：Help yourself!







  D：It's very kind of you!
答案： A
2、― Hi! George. How are you?

― _________________     

  A：That's all right.





  B：Don't mention it.

  C：How are you?







  D：Fine, thanks. And you?
答案： D
3、--___________! Welcome to the party.

--Merry Christmas! It's very kind of you to invite us.

  A：Happy birthday

  B：Merry Christmas

  C：Congratulations

  D：Have a good day
答案： B
4、- Madam, do all the buses go downtown?

-            
  A：Wow, you got the idea.

  B：No, never mind.

  C：Pretty well, I guess.

  D：Sorry, I'm new here.
答案： D
5、- Could I speak to Don Watkins, please？

- ________

  A：Speaking, please.

  B：Oh, how are you？

  C：I'm listening.

  D：I'm Don.
答案： A

二、阅读理解
1、

    Great changes have been made in family life because of science and industry.

    In the past, when more Americans lived on farms, the typical family had many children. In a farm family, parents and their children often lived with grandparents. Often, too, uncles and aunts lived nearby. But when industry became more important than agriculture in American life, families became smaller because industry requires workers who are ready and able to move off the land and to move again whenever necessary. And large families can not be moved from place to place as smaller families can. So, at present people tend to have smaller families.

    In the future, because of industrialization, a typical family will be required to move even more often than now, so families will be even smaller. The typical family may remain childless and consists only of a man and a woman. A small number of families may take child raising as their chief work. At the same time they may also raise other people's children, leaving those families free to move from job to job. 

(1)、The passage discusses influence of science and industry on American families.               

  A：T

  B：F
答案： A
(2)、Families of the past, the present and the future are described in the passage.                    

  A：T

  B：F
答案： A
(3)、People no longer want to have children.                                                

  A：T

  B：F
答案： B
(4)、Grandparents will take the chief responsibility of raising children in the future.     

  A：T

  B：F
答案： B
(5)、Large families cannot fit in with a highly industrialized society.                           

  A：T

  B：F
答案： A
2、It has been reported that in colleges across the United States, the daytime serial drama known as the soap opera has suddenly become "in". Between the hours of 11 a.m. and 4:30 pm, college television lounges are filled with soap opera fans who can't wait to see the next episode in the lives of their favorite characters.

Actually, soaps are more than a college favorite; they're a youth favorite. When school is out, high-school students are in front of their TV sets. One young working woman admitted that she turned down a higher paying job rather than give up watching her favorite serials. During the 1960's, it was uncommon for young people to watch soap operas. The mood of the sixties was very different from now. It was a time of seriousness, and talk was about social issues of great importance.

Now, seriousness has been replaced by fun. Young people want to be happy. It may seem strange that they should turn to soap opera, which is known for showing trouble in people's lives. But soap opera is enjoyment. Young people can identify with the soap opera character, who, like the college-age viewer, is looking for happy love, and probably not finding it. And soap opera gives young people a chance to feel close to people without having to bear any responsibility for their problems.

(1)、What is soap opera?

  A：Plays based on science fiction stories.

  B：Plays based on non-fiction stories.

  C：The daytime serial dramas on TV.

  D：Popular documentary films on TV.
答案： C
(2)、What can be the best title of the passage?

  A：College student viewers.

  B：Favorite TV serials.

  C：Soap opera fans.

  D：College-age viewers.
答案： C
(3)、Which is NOT the reason why the soap opera has suddenly become "in" among American  young people ?

  A：Because the viewers want to be happy and to enjoy themselves.

  B：Because the soap opera makes young people feel close to their people.

  C：Because the viewers can find themselves in the soap opera characters.

  D：Because the young people have to bear the responsibilities for their troubles.
答案： D
(4)、What can we learn from the passage? _________

  A：College students like soap operas more than any other social groups.

  B：Young people of sixties liked soap operas more than people today. 

  C：young viewers have turned themselves from the seriousness of sixties to enjoyment now.

  D：The young as a whole are trying to look for happy love but in vain.
答案： C
(5)、What message does the author want to convey to us? _________

  A：The people's favorites to drama works have been changed for a long time.

  B：The people's favorites to drama works change along with the times.

  C：The people's favorites to drama works is changed by the soap opera.

  D：The people's favorites have changed the drama works.
答案： B

三、词汇与语法
1、If you want to change for a blue shirt, you'll have to pay _______$ 10.

  A：another

  B：other

  C：more

  D：each
答案： A
2、Put it down, Richard. You mustn't read ______letter. 

  A：anyone's else's

  B：anyone's else

  C：anyone else's

  D：anyone else
答案： C
3、Three-fourths of the homework ______today.         

  A：has finished

  B：has been finished

  C：have finished

  D：have been finished
答案： B
4、If she wants to stay thin, she must make a _____ in her diet.

  A：change          

  B：turn

  C：run               

  D：go
答案： A
5、People at the party worried about him, because no one was aware ____ he had gone.

  A：of where

  B：of the place where

  C：where                                

  D：the place
答案： A

四、完型填空
Many people would agree that stress is a major problem in modern life. It is certainly true that worry and quarrel can cause all kinds of illnesses,     1   backache to severe headaches, or even more serious complaints such as high blood pressure.

    Many of us think   2   stress as something that other people impose on us. We often complain about how other people put us   3   pressure. But we should try not to let such pressure affect us. We should not forget that we are largely responsible for some of the stress ourselves. We sometimes take   4   more work than our bodies and our minds can handle. We should learn to   5   our limitations. We should be aware of which things are really important and which are not.
(1)、 

  A：of

  B：under


  C：accept



  D：from

  E：on
答案： D
(2)、 

  A：of



  B：under


  C：accept



  D：from

  E：on
答案： A
(3)、 

  A：of


  B：under



  C：accept

  D：from

  E：on
答案： B
(4)、 

  A：of

  B：under


  C：accept

  D：from

  E：on
答案： E
(5)、 

  A：of


  B：under



  C：accept

  D：from

  E：on
答案： C

五、英译汉
(1)、A lot of natural resources in the mountain area will be exploited and used.
(2)、Please ring me up tomorrow morning.

(3)、Not all Americans are interested in sports, of course.

(4)、He was too tired to go on reading.
六、写作
Instructions:建议你在30分钟内，根据下面所给的题目和提纲用英语写出一篇不少于80词的短文。

1.你的主要兴趣和爱好；

2.描述一项兴趣。

My Interests

